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Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-II
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-I
STATISTICAL METHODS
(STAT-211)

Time : 2 Hours

Section-1I :10

Maximum Marks : 70
Section—11:60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in
the Answer-book provided for writing answers.
In case of any discrepancy in English and Hindi versions of the paper,

only the English version be taken as correct.
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SECTION -1
gusg - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.
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1. Choose the correct answer and write the number of correct answer 1 or 2 or 3 or 4 in the square

given against each sub-question.
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(i)

(iii)

The data related to colour of flowers are
(1) Chronological

(2) Quantitative

(3) Qualitative

(4) Geographical.

well ® Ui ¥ wEtuw gHE o 8

(1) s

(2) WS

(3) TTEH

@) Yrifes

The measure of central tendency which is capable of algebraic treatment is
(1) Arithmetic mean

(2) Medium

(3) Mode

(4) None of the above.
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The middle value of an ordered series is called
(1) IlInd Quartile

(2) 5th Decile

(3) 50th Percentile

(4) All the above.

s Ao vt & @9 w1 9F Feen €
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(3) vEHAl OEE

(4) SwE |9l
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(10x0.5=5)
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@iv)

W)

(vi)

Relative measure of dispersion is
(1) Quartile Deviation

(2) Mean Deviation

(3) Standard Deviation

(4) Coefficient of Variation.
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Two regression lines coincide when
1M r=0

2 r=-1

3) e+l

4) r=+= |1
ﬁmmim’m!hﬁfhﬁ
(1) r=0

Q) 1==1

3) r=+1

@ r=1+ L

If in a scatter diagram all the points lies on a straight lime downward from left to right,

then there exists

(1) Positive correlation

(2) Negative correlation

(3) Perfect positive correlation
(4) Perfect negative correlation.
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(vii)

(viii)

(ix)

YOV WIS GIRIGSZSNIN

The error due to rejection of a true hypothesis is called

(1) Standard error

(2) Probable error

(3) Type-1 error

(4) Type-1l error.
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Students 't' test was discovered by
(1) R.A. Fisher

2) GW. Snedcor

(3) W.G. Cochran

(4) None of the above.
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For testing the significance of regression coefficient, we use
(1) Z-test

(2) t-test

(3) Chi-square test

(4) None of the above.
wmmﬁmmﬁmmmﬁéﬁi
(1) Z-em

@) 9w

(3) -

@) T H | wE T
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(x)
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Degrees of freedom for Chi-square test in case of 3x4 Contingency table will bc{j
(D) 57

(2) 6
(3) 8
@) 12.
Ix4 SN GROR & foe FE--ghem § wdEa wife e
(1 7
2 6
(3) 8
@ 12.

2. Fill in the blanks : (10x0.5=5)

(1) Family $i2€ 18 @ ..cccvvvevevcvncnninecsiacsaranes variable.
TRER TG TE TF ..oooovveerivirnrsaseissessssisnss = #

(ii) The Harmonic Mean of the variate values is the reciprocal of the .........coveviirencncnenee.
of their reciprocals.
fEedt St F1 TS TIE TTR T& B TIPT B ooovrerrremsiremnsssnssssssisens F1 FaHH
g 2

(ili) The most popular measure of diSPErsion iS ..........cosimsmicioisissiannns
faguy 3 TREY 1 AR AE TIRAT TG Loooonnnninnnmvmmsessemsssssssssssssesee 2l

(iv) If X and Y are independent variables, they are ..........ooveiinininnnnn.
XM Y IEMEN i #
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(v) The standard normal distribution has mean ... and standard
Aeaiallon - . mevnitlicais. ah it s easois .
AT TATHF TZA BT HIET oooeeecceeeccveressesseseesessssnsnssens Ao HEe fa=em
........................................... T 2

(vi) If one of the regression coefficient is less than one then the other regression
COOMBCIENt TS DE .ovocoisacinsissonssmssssrssssesssasosssssssarasossansess than one.

IR TH THEE NE 1 OAF THE Y FH T A TH THEAN [OE F WA E A
............................................................. B

(vii) Another name Of population IS .......cccccveeeiiiinisiisininninsinissnsnnsnasnes

(viii) When two events A and B are mutually exclusive then P(A N B) will be equal

RO “isassorissssininasciasitasesdsensersivesineonnecsessess
X 2 AT ATEB TWER ATTH B A P(A N B) coooevrcnnrinnsssssissssssssmssnsssssssssss
% FUaR g
EEE) - - soscmansicarimiatassspnssinssinn sinmpRihseTae R is the only distribution for which the mean and variance
are equal
..................................................... T UF U e ¢ e W wE s 9 e E
(x) Independence of two attributes is tested BY ..o test.
T O W AT T FHA ....cocoonrnnrnneneennnrcrrssmsneesnessessnees wheo g0 e s 8
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ROl NO. cicicirnssssssssimsnsassonisesses

Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-1I
Examination of the Four/Five-Year Degree Course, 2019-2020

SEMESTER-1
STATISTICAL METHODS
(STAT-211)

SECTION - II
gug - 11

Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for
writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules.

The question paper containing the Subjective part can be taken by the candidates alongwith them.
fTETE ST (W9 WS 3, 4, 5, 6 W 7) B IW D W M-I | e #) sw-ghem
Theef Z0 WE-T1 T W ® 9% widew g0 FEwmer @ o s

frTaTETE ST F1 WeE-T e o Wy & W w9 8

3. Define the following : (5x1=5)
frefafeaa #1 s =i .

(i) Ogive.
arRo T

(ii) Independent events.
=ad g2

(iii) Poisson Distribution.

aE §e A
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(iv) Regression Coefficient of Y on X.
Y ® X T S0 o

(v) Population.
qq41

4. Differentiate the following : (2x3.5=7)
frfafas & s FfE :

(i) Correlation and regreesion.

gEEay @ TqHsE

(i) Sampling and complete Enumeration.

W @ |gol oM

5. Write short notes/comment/justify the following : (2x6=12)
frfofas F1 G A frof/avh/aren FifT

(i) Simple Random Sampling.
o afes v

(ii) Bionomial Distribution.

fegz s

6. Explain any two of the following three questions in 1-1%2 pages. (2x8=16)
frfefaa @ we @ fR @ @ IW 1-1% 99§ A

(i) What do you understand by Analysis of Variance? Describe the analysis of variance
technique for one way analysis.

ST TR @ ST F T €7 THEEE vy a1 A i
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(i) What do you understand by test of significance? Give the procedure of Comparing means
of two samples by t-test in case of two independent and related samples.

el Thgo ¥ AW T TWER €7 W9 UE g whwwl ® ouneA # e
A-vhem g w0 F fafml fafew)

(ili) What do you understand by measures of dispersion? Explain the various measures of
dispersion.

fagqo % Al ¥ M9 TN TEER #2 fadmm  ffs Tl = seerm wifw)

7. Explain/describe in detail any rwo out of the following three questions in 2-3 pages. (2x10=20)

freafafen @7 woaf o @ fFff 9 ® 3™ 2-3 99§ TR

(i) What is the necessity of studying measures of central tendency? Estimate the missing
frequency for the following frequency distribution of the median for the distribution is 86.
Calculate its mode also.

217 Y ® A B I T AEvIHa 82 frafafen awemm w9 # e
faa SaRa F1 WA F@ F9 AR T w9 F o aferwm w1 AE 86 ¥ TwE agew

ot framfera)

Class Interval : 40-50 50-60 60-70 70-80 80-90 90-100 100-110
(a 3r=e)

Frequency 3 2 1 6 6 12 5
(ST

(ii) What do you understand by regression? Why there are two regression lines? Find out the
expected value of X when Y = 115 from the given data?

TTMEET ¥ A9 T WREA €2 TWeEw @M 3 F4 et #7 frm ofwsi ¥ X W
@ A9 T HI9Y 59 Y F1 A 115 R

n=9, Y X=540, ) Y=1080, Y Xx?=32502, Y ¥?=130072, » XY =65010.

(ili) Write about the assumption, properties and various applications of y2-test.

Fré-ar-wlem F v, TN w fafe sEwE @ A o fafEg
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